1 (Sem-3) MDCO4

2024
( Multidisciplinary Course )
Paper : MDC030403
( Business Statistics )

Full Marks : 45
Time : 2 hours
The figures in the margin indicate Jull marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x5=5

T AT ot Tee o

(a) Distinguish between univariate and
bivariate data.
IFI-oe O WF fA-5ee O WHR oelay
ferar |

(b) If Ais a certain event associated with a

random experiment, then P(A) is equal
to

( Fill in the blank )

I A, qgoe <[ GBR ATS GBT Fifse ¥5
W, (S2'TH P(A)-3 IF 37 |

(<0 372 =@ 41 )
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(2)

(c Ur=xl then the two lines of regression
are

o r = +1, (ST TR (I TOF XS

(i) coincident

Fgefrel

(ii) parallel
IEE

(iii) perpendicular to each other
AT o9

(iv) None of the above
G9Fq B18 T

( Choose the correct option )

(o Remc A e )

(d) Lockout in a factory for a month is
associated with which component of a
time series?
a5 IRYRIS @Az ¢ Sl TN SRED!
IR D! T TS ETO 2

fe) What are the different kinds of error
associated with tests of significance?

el AR e woe Rfew e @l
&2
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Gerg 2 Quest;
aﬂw t10ns -
e forsy - 2x5=]0

(c If Aan

) -d B are two events, not mutually
exclusive, connected to a random
experiment and

_1 pp =2 !
PAY =2 P(B) sand PAUB) =2

then find the value of P(AN B).

ﬂﬁAWanﬁWﬁwama@E@r
e, i oo Rl =, =F

1 a2 -
PA) =7, PB) = % PAUB) =

(o3 PAn B)3 ¥R fdfa 411

(d) What do you mean by skewness?
et 3ferca 6 380 2
(e) Find the harmonic mean of 2,3 and 5.

2, 3 9F 57 ZqEe T T T
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(4)

5x4=20

3. Answer any four of the following questions

ot i eprp i G BifReR T o -

(a) The AM and GM of two numbers are 9
and 7-2 respectively. Find their HM and
also the numbers.

1 SR FAGT TG 9 WF SIS TG 72,
ﬂwrﬁﬁwmﬂﬁ@wwxm@re
g 4|

(b) Find the missing frequency for the
following data whose median is 24 :

@R B 1 g IR A 1, T H

24 e T == :
Class Interval Frequency

FrE kiIEE
0-10 5
1020 25
20-30 ?
30-40 18
40-50 g

(c) What is time series? Give two examples
of time series data. What are the
different components of time series?

1+2+2=5
FEeE 59 I o| B Tz
2 Rfen Tzt 6 =2
(d) State the mathematical definition of
probability. Also mention its drawbacks.
3+2=5
Sefter  afifes ke fn F@we T|WR
Sp{fRYPTE SCEY 9 |
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(S)

fe) What is sample survey? Distinguish
between sample survey and census

survey. 2+3=5
oifemf w1 2 sifomd 5Ny o 3oyl stere
ST “YfFPTR fore |

(/ What is Poisson probability distribu-
tion? Write down the basic features of

this distribution.

2+3=5

> SRl 36 72 @2 3% o waPiEpPE

ferar |
(g) Calculate Karl

Pearson’s correlation
coefficient from the data given below :

T OYH A9l I [AEIR T RS

Ay 1 -
i o d. N 4 E € 7
gz AR TGN 10 11 13
(h) Given (ffar =CR)
X y
Arithmetic Mean 36 85
STIET
Standard Deuviation 11 8
7% 5577

Coefficient of correlation between x and

y=066

X I# y I qEd AT QF = 0:66
Find the regression line of y on x.
X3 €S y I SARE AN fefy 47
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(6)
i estions : 10
4. Answer any one of the following qu
wer T eppTyEs R AT @b T o
(a) (i) Define correlation between two
variables. Explain different types of
correlation with examples. 2+4=6
o v WS TR RE o
TrrzApi RfSw 2R ST Iy 91 |
(ii) Given (w31 =CR)
n=15,x =257 =18, ¥(x-Xx) =136,
Jy-y) =138, Yx-Xx)y-y) =122
Find ry,. 4
gy d W T 40 1
(b) (i) From the data given below,
calculate the trend using 3-yearly
moving average method : 7
3-TIM TR T G4 RRE weq
ORI [T eSO T el 35
Year | Sale (in thousand ) Year | Sale (in thousand ¥)
= Rl (zrem 591e) 57 R} (21 Bere)
2001 5 2009 13
2002 7 2010 17
2004 2 2012 14
2005 11 2013 13
2006 10 2014 12
2007 8 2015 15
2008 12
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(7)

(ii) Write a short note on any one of the
following : 3

e R A GOR e[S 5Y (G foia

(1) Seasonal variation
ol SiETel
(2) Uses of time series analysis

FEea RemeR IR

fc) () What is the probability that a
non-leap year selected at random
has 53 Saturdays? -+

el =M I @b W, R fas
R 7=, 535 *RR @R ERe
=2

(ii) State three properties of normal
distribution. a

oI 519 fofAeT «f foran o

(iii) Two dice are thrown simul-
taneously. Find the probability that
the sum of the faces is not less
than 9. 3

751 ooeft aoesr Fowet F1 29 |
qpabe AfSFam @RI RYR AT
9ol FH AR FIfde fAefy 740 1
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(8)

below,

! iven
(@ () From: the data & 3+4=7

calculate mean and variance :
o OYR “9 TS Ty TE R TH

Refg 40 :

Profit (T in lakh) | No. of Companies
e (714 531S) MR TR
20-30 30
3040 58
40-50 62
50-60 85
60-70 112
70-80 112
80-90 57
90-100 26

(i) Write a short note on any one of the
following : 3

@ R RICT G5 89S 5 Bl forer

(1) Simple random sampling
method

e iR AT 229 eife
(2) Test of significance
SFS o

(3) Scatter diagram
oI foq

%k
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